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[CES=PEN] 139,325,940 136,752,000 -2,573,940 AFH]| Q174H| 64,060,503 70,692,000 6,631,497
924 440,000 240,000 -200,000 AFRH| 2HH| 10,546,287 9,421,000 -1,125,287
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A 140,301,489 137,355,000 -2,946,489 S =R

HZZ4Q HxFZLQY (J|EIERF 1,000,000 0 -1,000,000 -100%
HXIZ4LQY HRXILQY AZRERZ 138,325,940 136,752,000 -1,573,940 -1.14%
o= olg= HEACO|EZ(Z2SD) 527,390 363,000 -164,390 -31.17%
Bae @AY JENIZ0AAY 8150 0 8159 -100%
s34y s34l WA 240,000 240,000 0 0%
3224 FAZLY RHEAZ 200,000 0 -200,000 -100%
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A 139,938,522 137,355,000 2,583,522 °°© (%)
AFRH]| 2| zZzoz 2,940,000 2,940,000 0 0%
AFSH| 2oy A8H| U LLT 5,547,257 4,089,000 -1,458,257 -26.29%
AFRH]| 2| 01| 56,000 172,000 116,000 207.14%
AFRH]| | AN 222 1,003,030 1,140,000 136,970  13.66%
NL=L]] 2| 2t 1,000,000 1,080,000 80,000 8%
AFRH]| QIZAH| 20 51,967,230 56,196,000 4,228,770 8.14%
AFSH QIZAH| N = 4,162,670 6,156,000 1,993,330  47.89%
AHEH] QIZAH| i ES=, 3,600,000 3,660,000 60,000 1.67%
ApSH| QIZAH| B2 U ERAH2Z 4,330,603 4,680,000 349,397 8.07%
AFRiH| AFQIH| TSI AR 5,512,000 6,820,000 1,308,000  23.73%
ApiH| ApiH| AN 43,500,000 43,500,000 0 0%
AFSIH| AFSHH| D5lm 2 JEALH| 6,206,600 5,682,000 -524,600  -8.45%
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